H#mAN~2 T USBcan A4S ALAn TAZAAL > 45 A+
USB 49" ® & id: idProduct = 0x5750, idVendor=0x0483
—. WX
BT WA BB R EAT A 64 F77 .
1.1 HEHE £ 2 STM32
% 1:

%[44

Bytel £ A 0x01

Bytel 0 : Byte2-Byte63 4 CAN RfkAg%
1-4: Byte2-Byte63 4 CAN #k3EMisdk, 47t A N

% 2: Bytel=0 891 LT

FH WY

Byte? 0: HIRAHK 1: XEAH Byte2=0 #= 1,

Byte3 RS &7 EAFRGE 84 | STM32 AL &

Byted AR K 8 15 | AESIE, BEH
KRILE S

Byte5: 63 | A4F L WAZA &3 CanlnterfceSet

%_3: Bytel=1-4 4T,

% |

Byte2 Bit7-0: FF RTR #&% 4% D3 D2 D1 DO

FF: ARfdifed BWibg4sin, 1A EW, 0 A4REm,
RTR: ZAZMAASLIBE DLAGATIA, 1 AHRAEM, 0 AFIEML.
BREBIEH 0, RTHAL

D3~D0 : #7i2i% CAN Mlag 3B K E

Byte3 % —Mi CAN #3E—-1D ¢4 32Bits [31: 24]

Byted % —Mi CAN #4E-1D ¢4 32Bits[23: 16]

Byte5 % —Mil CAN £4E-1D ¢4 32Bits [15: 8]

Byte6 % —mi CAN #c48-1D ¢4 32Bits [7: 0]

Byte7: 14 | % —mMi CAN #£3E 49 8 A~ Data 3538

Bytels % — W CAN 42 & 4 N<=1, Bk

Bytel6:19 | % =it CAN 41D
Byte20: 27 | % =i CAN £t3% 69 8 A~ Data $%d%

Byte28 % =M CAN 13 & L N<=2, Bk
Byte29: 32 | % =i CAN #£3B-1D
Byte33: 40 | % =M CAN £k3B 49 8 A~ Data %48

Byte4l % v9iil CAN 13 & B N<=3, Zuk
Byted2: 45 | % vt CAN ££3E-1D
Byted6: 53 | % vwahil CAN L3549 8 A~ Data #L3B

Byte54: 63 | Zw&

1.2 STM32 % i+ AL



RS e s, RAT S AL E T A AN AL, AR 4 Ao
M. & 6 A CAN 32 0 UK B 4038 £ 3h K 2 T F AL

% 4:
F¥ |
Bytel B2 4 0x02
Bytel 0 : Byte2-Byte63 4 CAN AgkAa%
1-5: Byte2-Byte63 4 CAN ZKIEMisk, #7ieh N

& 5: Bytel=0 49t 5LTF, sLE AhE 44

Fh LA
Byte2 0: EIRASL
1: XEBE AR
Byte3 HAFRN G 8 2
Byted W AFF B9 K 8 1%
Byte5: 63 | A4ki¥ L JLAZ A K4k CanlnterfceSet
& 6: Bytel=1 % CAN 40 A 4200 2| 4036, 54038 USB R Lt 5
H,
F AR
Byte2 Bit7-0: FF RTR 4&% 4%% D3 D2 D1 DO
FF: AFEWAed BWagArin, 1 A &M, 0 Hirghl.
RTR: ZAZMIASLIE WG9 ARIR, 1 ARAZM, 0 AHFIEM.
REBIEH 0, RTHAL
D3~D0 : #74%i% CAN Miag 3B KA
Byte3 % —Mi CAN #3E—1D ¢4 32Bits [31: 24]
Byted % —mi CAN £48-1D #4 32Bits [23: 16]
Bytes % —mi CAN £42-1D #4 32Bits[15: 8]
Byte6 % —mi CAN £c48-1D 49 32Bits[7: 0]
Byte7: 14 | % —mMi CAN £k3B 49 8 A~ Data %48
Bytel5 % — M CAN 13 & L N<=1, Zuk
Bytel6: 19 | % =il CAN ££3B-1D
Byte20: 27 | & —Mi CAN £k3B 49 8 A~ Data %48
Byte28 % =M1 CAN 12 & 4 N<=2, Zmg
Byte29: 32 | % =i CAN Zk4E-1D
Byte33: 40 | % =M1 CAN #k3B ¢4 8 A~ Data #ti8
Byte4l % v hil CAN 13 & B N<=3, Zuk
Byted42: 45 | % v9hi CAN L4E-1D
Byted6: 53 | & va il CAN #k3B 49 8 /> Data %548
Bytes4: 63 | 2wk




—. USB %% CAN &) TAoAAL /7 454

- -

~

o= R USB BARRTHH T T~-l
T~~<__ #&? if (mRxBufLenght!=0) __---~

~

-~ -

~ -
~_ -

bn

USB # B, FEKIEAN
ZHR, HiEL:
EP1_0UT_Callback

~
-

_--"77 KW CAN £ RREEAH T -~<l

- ~

T~~<__  #7? if (nRxBufLenght!=0)  __--~

S~ -
~ -
~ -
=~ o~ -

- -
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void CAN1_RX0_IRQHandler(void)




